© HEINRICH KIPP WERK GmbH & Co. KG

(]
g, W2 0™, AR A AR HA I(‘-I“I‘

ks

RIE 4:
Ole A ERixiE H2o
215} AFSEILICY

olE S0i 7|, x|, 77 US4 2 MEO| Zolgt 0 HE EE
9Ixl a2 ol Bt

Hu
ro
o
i}
oy
f
A
N
rII
Yo
ol
rr
»
mlo
0%
A
ol
N

LA £2]2, ™ O 2ln &2 El, £33} 1.4305.
2 El 35} 1.4034.
1.4310.

eclE, HXE I8 &3 £ 1.4404.
A

LEAF &2IE,

AHQIE|A AR T, A4:
LIAL £2|2 FEE R

ol 1l

e

MEE|= AMEE= CHEE 2 AFEO|
2 =2 Aldo| 7 & 3« AH|2
ME3t= WOl E&LCt.

SELch

7
BlA AEI A4 QIEIA BRIXY

Al

S A HE.

HMIAME]:

EZXIMY 24 K1290.

AH O|M & K0665.

U2 HEES = AHQIEIA AR 17 ME K2146.

www.kipp.com - info@kipp.com 1/3



°
OlA = A A AEl IS A A AEI
olciiA Z|X|, AH2I2|A AL B2 HM, AHQI2|A AL HA
< xS ole
s Jela &g = A8,
=N
‘ ]
L]
_* SW1
-..J N
~J
_|—
T
Dy | LL
b page '
-0,04
Z= g0t
o s E B ME AR HAZY OF =2 E D D1 D2 L L1L22EZ3 SW1Fx30° A&  EbM
S Etd Z=2
F1 2 NF2 2N
K2194.117903 C AEQIEIA A” 14305 AtAM OHFE[  HIZS 3 M6x0,75142556 5 35 8 08 3 10
K2194.117004 C AFEQlE|A AR 14305 AdM Obea|  HIBS 4 M8x1 182956 6 4 0 1 4 12
K2194.117105 C AH[QIBA AR 14305 XAtoiX OFRE HIZASt 5 M10x1 213458 7 5 13 1,3 5 12
K2194.117206 C AHIQIEA AR 1.4305 A4 OtF 2| HIZ3st 6 M12x1,5 2541,710 8 6 14 1,8 6 14
K2194.117308 C AHIQlEA AR 1.4305 AFod%] OR 2| SRk 8 M16x1,5 33 54 1210 8 19 2,3 14 28
K2194.117410 C AH|QIBA ARl 14305 XAtoiX OFRE HIZE 10 M20x1,5 33 61 1512 10 22 28 15 32
K2194.007903 C AH|QIE|IA AR 14034 XtoiX OHRE a3t 3 M6x0,75 142556 5 3,5 8 08 3 10
K2194.007004 C AE|QIE|A AR 1.4034 XA OtF 2| FEE 4 M8x1 182956 6 4 10 1 4 12
K2194.007105 C AEIQIEIA ARl 14034 Xt9ix OMFE| a5t 5 M10x1 213458 7 5 13 1,3 5 12
K2194.007206 C AEIQIEA AR 14034 X}I% OpRE| A3t 6 M12x1,5 2541,710 8 6 14 1,8 6 14
K2194.007308 C AHIQlEA AR 1.4034 X943 o2 2| FEE 8 M16x1,5 33 54 1210 8 19 2,3 14 28
K2194.007410 C AEIQIEIA A&l 14034 XtoiX OLFE PEE 10 M20x1,5 33 61 1512 10 22 28 15 32
K2194.067903 C AHQIBIA AR 14404 Xtod™ ObRE| L|Z Z8[0|E 3 M6x0,75 142556 5 3,5 8 08 3 10
K2194.067004 C AHIQlEA AR 1.4404 AtoiA o2 LI Z20|E 4 M8x1 1829,56 6 4 10 1 4 12
K2194.067105 C AH|QIBIA ARl 14404 XoiX OF 2| LIZ Z8[0|E 5 M10x1 213458 7 5 13 1,3 5 12
K2194.067206 C AHIQIEIA ARl 14404 XIoiX 02 2| LA Z80|E 6 M12x1,5 2541,710 8 6 14 1,8 6 14
K2194.067308 C AHIQlEA AR 1.4404 Xt9iX obR2| LI Z8(0/E 8 M16x1,5 33 54 1210 8 19 23 14 28
K2194.067410 C AHIQIEIA ARl 14404 Xtoi™ 02| L|Z Z8[0|E 10 M20x1,5 33 61 1512 10 22 28 15 32
K2194.177903 C AHQlDA AR 1.4404 AtQiX otF 2| AHQIX OtFEl 3 M6x0,75 142556 5 3,5 8 08 3 10
K2194.177004 C AH|QIBA AR 14404 Atoi™ O E| AHAX OFFEl 4 M8x1 182956 6 4 10 1 4 12
K2194.177105 C AHQIBA ARl 14404 Xoix 02| AKX OFFEl 5 M10x1 213458 7 5 13 1,3 5 12
K2194.177206 C AHIQIEA AR 1.4404 AoiA ObFR2| AHoiX 0bF2l 6 M12x1,5 2541,710 8 6 14 1,8 6 14
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



°
el
QleiA SR, AR[Qla|A AR B2 Y, AH|2]A AR B
HIgn A3 EUS,
=2 Y%
F2HS EY  EXMAME AR T HAZSE OE PS= D D1 D2 L L1L2AEE3 SW1Fx30° AJEF EbA
s B 32
F1 2 NF2 2N
K2194.177308 C AHICIEIA ARl 14404 XIoid OFF 2| AHdX OFFEl 8 M16x1,533 54 1210 8 19 2,3 14 28
K2194.177410 C AHQlDA AR 1.4404 XtQiX otF 2| AHeix otF 2l 10 M20x1,5 33 61 1512 10 22 28 15 32
K2194.0679031 C AEH[QIE|A AEl 14404 E2tAE X2 LIZ ZCO|E 3 M6x0,75 142556 5 3,5 8 08 3 10
K2194.0670041 C AEHQIFA AEl 14404 EEIAE X2 LIZ ZTO|E 4 M8x1 182956 6 4 10 1 4 12
K2194.0671051 C AHIQIEIA AR 14404 EEtAE X2l LIZ Z2I0|E 5 M10x1 213458 7 5 13 1,3 5 12
K2194.0672061 C AH[QIEA AEl 14404 E2lAE %2 LIZ ZT0IE 6 M12x1,5 2541,710 8 6 14 1,8 6 14
K2194.0673081 C AE[QIP|A AE! 14404 E2tAE X2 LIZ ZC0|E 8 M16x1,5 33 54 1210 8 19 2,3 14 28
K2194.0674101 C AEH[QIE|A AEl 14404 SEtAE X2 LA Z80|E 10 M20x1,5 33 61 1512 10 22 28 15 32
K2194.1779031 C AEH[QIE|A AEl 14404 E2tAE X2 AAM OrFE| 3 M6x0,75 142556 5 3,5 8 08 3 10
K2194.1770041 C AEH[QIFA AEl 14404 EEIAE X2 XX 0fFEl 4 M8x1 182956 6 4 10 1 4 12
K2194.1771051 C AHIQIEIA AR 14404 EetAE M2l XX OFFEl 5 M10x1 213458 7 5 13 1,3 5 12
K2194.1772061 C AHQIE|A AEl 14404 EctAE X2 XHQiM 0tFE| 6 M12x1,5 2541,710 8 6 14 1,8 6 14
K2194.1773081 C 2AEIQIEIA AEl 14404 E2tAR X{E| AHoiX OlF 2| 8 M16x1,5 33 54 1210 8 19 2,3 14 28
K2194.1774101 C AEQIBA AEl 14404 ErtAE X2 AFQI% OFFE] 10 M20x1,5 33 61 1512 10 22 28 15 32
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



